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regulation of monopoly practices. What
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monopaly regulation? 7+3=10
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. . or the questions
) Describe the various applications of g =

elastici fd i ;
ty of demand in economics. 10 1. Answer the following questions (any fen} :
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() Explain how wages are determined in a a) What is the problem of ‘choice’?
competitive labour market. 10 ‘ow 3 e 57
o TE TS TR @ (b} Distinguish between a firm and an
f~éifs =, Irp <=t industry.
a5t AfePm WF @B SUR WEe Al W
Fi
* A d

(¢) Mention one feature of capitalism.
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(d) State one featurc of economic goods.
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What is cross demand?

fote vifgm 52

Write the demand function.

oifEHl TG forat |

What are complementary goods?
ARejae ANTPE 59

Draw the demand curve of Giffen goods.

e mdprres s R w90

What is the shape of perfectly inelastic
supply curve?

= af¥feRrie @EEIR wSigis /7
What is producers’ surplus?
TR 556 57

Define opportunity sets.
et ey e fr

What is income consumption curve?

T Sorets 92t 57

Mention the concept of market demand.
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Distinguish between stock and supply.
TGS T @IS TS el oy |

Define imperfect competition.
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(p) What is derived demand?
Tgs i 7

fg) State one character of labour market.

Wiq IHRY <5 @R Sy I

{r) What is meant by property rights?
Weoifigq w33 6 g

Answer the following questions in short

2. )
(any five) : ] 2x5=10
oo 2pmEd vy ged it (R e <fiwb)

{a) Distinguish between positive economics
and normative economics.
sfeaise AR Wie Sdere wAAIReT TS
ofiefqy o |
() What is economic problem?
weftafes Tl 752
{c) Write any two features of basic
competitive model.
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gy
(d} Why is the cross elasticity of _d.emand
for substitute goods always posiive and
negative for complementary goods?
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If price elasticity of demand for milk is
equal to unity (=1) and if at the price
of ¥40 per litre a household demands
40 litres milk, then how much milk
will be demanded at the price of ¥60
per litre?
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Why do two indifference curves not
intersect each other?

TorE e @ R e o e
Why is the supply curve of labour
upward sloping?

oY @i @ e S =0

Distinguish between fixed and variable
costs.

P o ARaéha st ey w)

Mention two government policies to
enhance competition in the market.
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Why do input demand curves shift to
the left?
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3. Answer the following questions (any four) :

5x4=20
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What is price rationing? Explain the
impact of price rationing on the market.

1+4=5
TSI 7 T T @AW TR
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How does the profit motive drive the
market system? Discuss. S
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Explain the characteristics of a mixed
economy. 5
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What is price mechanism? How does
price mechanism allocate resources?
1+4=5
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What is budget line? How do changes

in income and prices affect the budget
line? Use diagrams. 1+2+2=5
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() Show that a monopolist always operates
on the elastic part of the demand curve.
Why? 3+2=5
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iR SMbre A FE | Y7

(g} Establish the relationship between
average cost and marginal cost. Why
does MC curve cut AC curve from
below? 3+2=5
o I ST i 9 e FoE FoH 49|
e AW @R 5T T @I [ oo o[
= FE7?

(h) Explain the various factors determining
the demand for labour. 5
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4. Answer the following questions (any four) :
10%4=40
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fa) What are the fundamental economic
problems of an economy? How can
various economic problems be explained

through the use of production possibility
curve? 4+6=10
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How is efficiency of market linked with
producers’ and consumers’ surpius?
Explain. i0
TN T9€ WIF (S Tged TS IWTT
wrel 5 TEm wi®? IR

Explain the various factors determining
individual and market demand, 10

Fiesre vitn aF IWmR widme PRz
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What is substitution effect? Explain the
concept of substitution effect with the
help of Hicksian and Slutsky method.

1+5+4=10
dfers Rete 57 st =i 26f =efoq s
dfows Reies 4=t il 393t

Explain the process of consumer’s
optimum choice with the help of indif-
ference curve approach. 10
e @ Regge wmEe SeR I o
sfer=Ich e 34t

Derive long-run average cost curve
from short-run average cost curves.
Give reasons for the U-shape of long-
run average cost curve. 8+2=10
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